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Note : All questions of Section A are compulsory. In 
Section B and Section C, give answers as per 
instructions given. 

SECTION A 

1. Select the correct word given in parentheses to 
fill in the blanks in the following sentences : 	5 

(a) Initially, new theories are not accepted 
because they may not agree with the 
	 theories and the prevailing 
social ideas. (past/existing) 

(b) The use of number system was greatly 
popularised by 	. (Arabs/Europeans) 

(c) The most distinguishing character between 
the birds and mammals is 	 
(4-chambered heart/mammary glands) 

(d) Resources that are exhausted are known as 
	resources. (renewable/non-renewable) 

(e) The foremost problem associated with 
modern agriculture in India is that of 
	. (labour/energy) 
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2. Indicate whether the following statements are 
true or false : 
	 5 

(a) Drainage is one of the important factors in 
the management of saline soils. 

(b) Infectious diseases spread from patient to 
healthy person. 

(c) INSAT-2D, a geostationary satellite, 
completes two orbits around the moon in 
24 hours. 

(d) Science helps us to explore the natural world 
around us thus enlarging our experience. 

(e) In sexual reproduction, gametes are 
produced by keeping the number of 
chromosomes similar to the parents. 

3. Match the terms given under Column A with 
those given under Column B : 

Column A 	 Column B 
(a) Constellation 	(i) Require more 

nitrogen for their 
normal growth 

(b) Calcium 

	

	(ii) A group of stars 
arranged in a 
pattern, defining a 
region of the sky 

(c) Cereals 

	

	 Spores were 
transferred to 
many planets from 
outer space 

(d) Displaced 	(iv) Builds strong 
aggression 
	 bones and teeth 

(e) Ancient Greek idea (v) Indirect anger 
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SECTION B 

Note : Answer the following questions. Limit your 
answers up to 200 words for each question. All 
questions carry equal marks. 

4. What are infectious diseases ? Briefly describe 

the various modes of their transmission. 	 10 

OR 

Briefly discuss the reasons that caused the 

decline of European science. 	 10 

5. What are essential nutrients ? Discuss their 

importance in our body. 	 10 

OR 

Briefly discuss the problems faced by a country 

while importing a technology from a more 

developed nation. 10 

6. Define the term pollution. Name any two 

pollutants which are toxic. Describe different 

methods by which air pollution can be controlled. 10 

OR 

The current theory for the origin of the universe 

is the Big Bang theory. Describe the Big Bang 

theory in your own words. 10 
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7. Briefly discuss the hazardous effects of 
technology on our environment. 

10 

OR 

Name any two diseases caused due to 
protein-calorie malnutrition. Discuss the 
conditions under which our poor children suffer 

from these diseases. 
10 
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SECTION C 

Note : Answer the following questions. Limit your 

answers up to 300 words for each question. All 

'questions carry equal marks. 

8. Briefly discuss the obstructions in the way of 
growth of science in medieval . India. 	 15 

OR 

State the role of communication media in 
promoting education in India. 	 15 

9. Differentiate between "Fission Energy" and 
"Fusion Energy". State the risks associated with 
the use of these two methods for obtaining 
energy. 

OR 

We are all the time exposed to disease causing 
microbes. Microbes are everywhere — in the air 
we breathe, the water we drink and the food we 
eat. Yet we seldom fall ill. Our body protects us 
from pathogens. Write briefly about the body's 

battle against pathogens. 
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10. Our resources are limited and if they are not 
used properly they will get exhausted soon. As 
an enlightened student explain as to how, with 
careful planning and management, we can make 

15 use of our limited land and soil resources. 

OR 

Write short notes on any three of the 

following : 
	 3x5=15 

(a) Renaissance 

(b) Chemical Evolution 

(c) Greenhouse Effect 

(d) Balanced Diet 

(e) Reflex Action 

FST-01 	 6 



I Rtg .ge.t. .ei I 
zwfiTIERITETE (iftiftAt.) 

wan Tift$TT 

AMR, 2018 

immt.t.41 :farm 	 anvil 

tirdlifFit 

filrq : 3 174 
	 ailito-or a*: 100 

qin 	* RR ad4uffiff un-  atk wig v77 
ik 77T PZ177 aryfigxcr7 * 3--dr 4914k 

1. 4Agd 	4 fk wr-41 .4t IC .116dch 4 itrk 

7TVett V64 1-4-4R c6AK 

3rrin 4, kgid 4WIK .4tft fok 	4aiif4 
tipiAct) 14•0 4 *I 

lirrW MN-4W) 

	 .gru *gm 	 -k 31411T 	wsff 

01.44q wrin err I (air4Wegrii) 

(70 	att tiltuRtil tigifilch id4qctda miut 

	t i (4Aaltzt wARR OM) 

(v) Rim 1114 414 (4r4wite) *um 	 

	

 	I (ictichtullteR-ichcbt 	4) 

(w) lam aTitir4w TR 3-4 	740PRzu 

(WO* 

FST-01 	 7 

5 

P.T.O. 



2. 01151C1 	URI aMT arilF1 : 	 5 

(i) ziquilti 140 *7-4-AR 4 .4-e-Achiti 

11.4-- tpi glitch) 4 Rw 

tisbliich tit Aftw 4 TERAT 0416 4 to--da I 
(TOPIU-2-41, ► 	 (grticomf0 44S1 49 241414  

4 yfrol * a-41R vim I 

(s) 1 	em14 311-frdW sf44it 	aTAItur IA 4 -et 
wc-dr 

 

31 I: vTrl ardira * 2 W-IrdT 

-4 I 

(W) &eh 31-4-4-4 4, richl * Arifut 	shlailttlail 
*gm Inffi-firdt TIM4 Tr& t I 

3. catig 	tUTIR 41611 T 	Vi 	ga 
fella 4ANt( : 	 5 

chkof chievi W. 

(i)  	(i)  	* folt 
aifim wg1-44 

31T4FTW 

41C4itiii 	(ii) 	4 04401 d 

WO TIV 
awrz 4 w wr 

	

tui 	 45CdT 

(TI) 31-4r4 	 (iii) 4r-6 *kw 4 
.11Aluspit 	vo 
tiK #viiiiatur 

('Er) f4mrikff 	(iv) AdaAtal 
311r   wgraT 

(w) Sri A-4 10-41 ErRurr (v) 35161410E1 

FST-01 	 8 



W-e: PA./ 	 3-et 49Ak P--4-4.  T * 	* 

200 ww$ 'w f/114ff - / mRY 

4. *unmet) 44 win ? 74* AM 41 MIR 	Ntil 

*Oxr 4 wig cANt( I 	 10 

3TITEIT 

  	*Pi * v * cbituil 	lit1*1 4 Id 	Air 

4.1fdq 
	 10 

5. 3l1440 "(kW .ffm wit 	-Oh z-4 Irdw 
10 

3TerefT 

%Eft tqf 4 3T fir* fdqAci tz 4Illsilf)41 aTrarra .4t 

IPIRTaii **WET 4 fd.-cpil 	I 	 10 

6. niur W44 .*1  xitkIERff cANt( I f'd ff 
mvcrl * WIR I Wig 	AdiDd AR4 *2t 

	Vi 444 4 	 I 10 

3TINEFT 

a 	14 	*1' drifif 	r AV r Riod 

1 1:1ia I ii m--4 4 le kgia 	'40N4I 	t I . 10 

FST-01 	 9 	 P.T.O. 



7. VT11 9414iut 11-014 tr44 ara tftet 3nral 

.41 -(WEr f4-4-44T AftR I 	
10 

wart 

Wm-telt 3rira Tr1qur t4 ar41 1=44f t 

tgaftzii 	111 %Rimi 	A igt4 	f4R 

tritiPAzit IR *mitt 4110 t.4 	1=4-4-441 

*IPAR I 	
/0 

FST-01 
	 1 0 



95 iT  

4.-Aregrf 3R7/T 3fff 41/Mk / AR* 	aur 
300 7 	fiAcf afq / ?le 5174 3* ?MR 

g / 

8. 404131 	4 WO 4 	*pi *1 344 4 alTt -4114T311 

Ti eWq 4 	A-11 41NR 1 	 15 

RIM %AU SIM 1:1-41K gliszTql 

da4SI cANR I 	 15 

vResisi 3" warr 	.a.-41" 4 ai-4( izrz 

4 	3frli:tr * %ik IR 41-41 1A441 * 	 

AA* ti•iNd 1 vr dais( 41NR I 	 15 

aTtferT 

411 k 	wxr* 4 airat 

wff 	-gar 4 t, f4u4 -gR lite 	%IA 4 

tf44 -FltafwarraIN-4441f,ftl/suara 

411FR We TO I 'FM VOX IFT 

• *MIA loTrft 	airdl t Iw(fiK 61134 * 

TiEri fog TR Tittr  
	

15 

11 	 P.T.O. 



10. -gml *411%44 -Ord a Aft .3-4-*-T vtit .Stlq II 

Tran 	tivniqr t via I g*rdie4trit 

* 	wffirt 1* for 3ft-tx arm& writ Tri 

*wait 	3rditt4 tot aiEr4 tfim %Paw 

ZtiZr)Ti .4R Trawl I 	 15 

312RWT 

14-A 	d 4 * fotft Ng. 	lq 

fArik : 	 3x5=15 

(*) 34TIPT 

titimPco %WEI 

(ii) 	311114 (sikobitf OW) 

('I) 	 

(F) Act& fOn 

FST-01 	 12 	 62,000 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

